TH23EE

BET=8 )V IHR

HRKERH 35 GrEFE: 30m. AkL—+:22~30m)
o |sEE W | BEE | Hoas H23a1e | Hessio | Heasie H2356.7 H236.14 H23.75 H237.12 H23.8.2 H238.11 H23.9.8 23915 | wezroa | wesions | westis | mesiias | w2sizis | mende | meazio | Hessi2
1 mg/L 0.003 0.001 i - 0.001 i - 0.001 ki - 0.001 ki - 0.001 ki 0.001 ki 0.001 ki - 0.001 ki - 0.001 ki# - - 0.001 k& - -
2 me/L |mmeneoce|  Ami - T - T - T - T T T - T B T B B T - -
3 mg/L 0.01 0.005 - 0.005 - 0.005 K - 0.005 K - 0.005 K 0.005 0.005 - 0.005 - 0.005 - - 0.005 - -
ECZE mg/l | 005 002 %8 - 002 %8 - 002 % B 002 % B 002 @ | 002 x| 002 #m B 002 % B 002 - B 002 %A - -
5 |#t&E mg/L 0.01 0.005 - 0.005 - 0.005 K - 0.005 K - 0.005 K 0.005 # 0.005 # - 0.005 K - 0.005 - - 0.005 - -
6 [KE me/L | 00005 | 0.0005%% = 0000554 = 0000557 - 0000557 - 0000557 | 000057 | 0.0005%% B 0000554 B 0000557 - B 0000557 - -
7 [FrEnkE me/L [Bmaneoce| TR - Tt - Tt B Tt B Tt Tt Tt B g B T B B T B B
s [PCB me/L [sEeneoce| T = T - T - T - T T T - T - T - - T B -
ER A== E mg/L 0.02 0.002 K — 0.002 i - 0.002 ki - 0.002 ki - 0.002 ki 0.002 ki 0.002 ki - 0.002 ki# - 0.002 ki - - 0.002 Ki# - -
10 [mtg ez me/L | 0002 | 00002k = 000024 = 000027 - 000027 - 000027 | 000027 | 0.00025% B 0000254 B 0000254 - B 0000254 - -
11 [12-v7nazh me/L 0004 0000457 — 0000457 — 0000457 - 0000457 - 00004%7% | 0000457 | 0.00045%% - 0000457 B 0.000455% - B 0000457 - -
12 [EE LT v mg/L | 0002 | 00002 = 000024 = 000027 - 000027 - 000027 | 00002 | 0.00025% B 000025 B 0000254 - B 000025 - -
13 |1,1-y" ORIy mg/L 0.1 0.002 K - 0.002 K - 0.002 ki - 0.002 ki - 0.002 ki 0.002 ki 0.002 ki - 0.002 ki - 0.002 ki - - 0.002 ki - -
14 [1.2-v peaz Ly mg/L | 004 | 0008 %A = 0004 %% = 0004 %% B B 0004 5% | 000458 | 0004 %7 B 0004 %% , 0004 % , , B B
15 [1.1.1-Mpmnthy me/L 1 0.000557% — 0.000557% — 0.000557% - - 00005%% | 000055 E - 0000557 B 0000557 - - - -
16 [1.1.2-paazs> mg/L | 0006 | 000063 - 00006574 = 00006567 B B 0000657 | 0000655 B 00006567 , 00006578 , , B B
7 rusoozFLy mg/L | 003 | 0002%% = 0002 %% = 0002 %% B B 0002 %% | 0002%# | 0002 %4 B 0002 % B 0002 %% B B 0002 %% B B
8|7r5oaRTFLY me/L | 001 | 00005k - 00005574 - 00005574 . 00005574 . 0000557 | 000057 | 0.0005%% B 0000657 B 0000657 B B 0000657 B B
19 [13-7on7any mg/L | 0002 | 00002 = 0000257 = 0000257 B 0000257 B 0000257 | 000025 | 000025 B 0000257 B 0000257 B B 0000257 B B
I EEEI me/L | 0006 | 000065 = 0000654 = 0000657 B 00006 . 0000657 | 000063% | 0000657 - 0000657 - 0000657 B B 00006 B B
2 [oxoy mg/L | 0003 | 00003k = 0000357 = 0000357 B 000035 B 000037 | 0000358 | 000035 B 0000357 B 0000357 B B 00003 B B
2 |FARoANT me/l | 002 | 0002 %A = 0002 #7 = 0002 7 B 0002 7 B 0002 %% | 000254 | 0002 %4 - 0002 FA B - B 0002 %% - -
28 [~vey mg/l | 001 0001 5 = 0001 %% = 0001 %% B 0001 %% B 0001 %% | 0001 % | 0001 ¥a B 0001 % B B B 0001 %% B B
2 ery me/L | 001 0002 %7 = 0002 #7 = 0002 £ B 0002 £ B 0002 %% | 00025A | 0002 %7 - 0002 FA B - B 0002 %% - -
25 |[pmEERR UEREEER | ne/l 10 K = i3 = 081 B 094 B i 12 0 B i B B B B B B
me/l | 08 005 = 005 % = 005 % B 005 % B 005 @ | 005 % | oos x@ - 005 % - - B 005 %@ - -
me/L i 004 % = 004 %% = 004 %8 B 004 %4 B 004 %8 | 004 %8 | 004 xm B 004 %5 B B B 004 FA B B
me/L | 005 | 0005 @ = 0.005 #7 = 0005 #7 B 0005 #7 B 0005 %% | 0005%% | 0005 %7 - 0005 A B - B 0006 %% - -
29 & < B 134 123 139 138 146 T4 155 167 165 178 173 178 180 179 148 153 127 132 126
30 k%A 4 v BEGH) - B 73 73 74 73 75 76 75 75 74 73 73 74 76 74 74 73 74 73 73
31 |[BaEEE ms/m B 47 29 7 72 33 30 39 10 18 57 39 3 2 2 a1 47 18 46 20
32 [l me/L B 8 = 110 = 40 B 53 B 59 80 51 B 2 B B B 62 B B
3B F14% o e 1 0067 = 0052 = 0048 B 0051 B 0053 0051 0051 B 0048 B 0049 B B 0050 B B
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